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Q.1
(a)
(b)

Q.2

Total Marks :

Write difference between: Management Accounting & Financial Accounting.
From the following data calculate labour variances.
Rs. 4320
2000 Hours

Total Direct Labour

~Direct Standard Hours

Standard Wage rate per hour

Actual paid hours
Abnormal idle Time

Discuss in detail the limitations of Management Accounting.

Rs. 2
1800 Hours
80 Hours

OR

Write difference between: Standard Costing & Budgetary Control

What is the meaning of Fund Flow Statement ? Discuss the use and
importance of Fund Flow Statement 7

Write difference between: Cash Flow Statement & Fund Flow Statement
OR
Following is the Balance Sheet of KALPANA Ltd., for the year 2015 & 2016.
Liabilities 2015 2016 Assets 2015 2016
{Rs.) (Rs.) (Rs.) {(Rs.)
Equity Share Capital Goodwill 50000 47000
each of Rs. 10 200000 | 350000 | Land-Building 205000 | 140000
General reserve 140000 90000 | Plants 60000 130000
Capital reserve - 10000 | Investments 20000 50000
P &L Alc 60000 75000 | Stock 70000 175000
15% Debenture -1 100000 | Debtors 80000 158000
Creditors 45000 60000 | Bills receivable 13000 42000
Bills payable 40000 18000 | Cash & Bank 60000 56000
Propased dividend 35000 50000 | Preliminary Exp. 7000 5000
Provision for taxation 40000 46000 | Debenture disc. - 6000
Staff provident fund 5000 10000
565000 | 809000 565000 | 809000

Additional Informations:
During the year purchased a plant of Rs. 85000 on credit
Company were sold Land & Building for Rs. 80000. It's cost price was Rs.
70000 while it's book value was Rs. 50000. Arise profit on a sales, of which
capital profit credited to capital reserve & revenue profit credited to Profit &

Loss A/c.

100

(10)
(10)

(10)
(10)

(10)

(10)




(3) Company issued bonus shares in the ratio of 5:2 from the General reserve.
(4) Debenture was issued at 10% discount.

() In the year 2016 company paid interim dividend Rs. 12000 & Income Tax
Rs. 36000.

Prepare Fund Flow Statement.

Q3

{a) Explain the procedure for setting up system of Budgetary Control. ' (10}
(b) Write short note: Advantages of Budgetary Control. (10}
OR
Q.3 The Annual Flexible Budget of SHAKTI Ltd., is as follows. (20)
Production Capacity 50% 75% 100%
(Rs.) {Rs.) {Rs.)
Direct Materials 100000 | 150000 | 200000
Direct Wages 120000 | 180000 | 240000
Factory Overheads 70000 85000 | 100000
Administrative Overheads 10000 10000 10000
Selling & distribution Overheads 100000 | 130000 | 160000
The company is presently operating only 50% capacity. The sales
value of production at current selling price is Rs. 500000.
It is anticipated that 5% reduction in selling price will enable the company to
increase its sales volume and thereby enabling it to operate at 60% or 80%
capacity.
Prepare a Flexible Budget for 60% & 80% production capacity and find
out profit.
Q.4 :
(a) Write short note: Limitation of Break Even Analysis - {08)
(b) KIRTAN Ltd. provided following informations. (12)
Year Sales Cost of Profit
(Rs.) Sales {Rs.)
(Rs.)
2015 | 1500000 | 1200000 | 300000
2016 | 2500000 § 1700000 | 800000
Find out:
(1) Profit Volume Ratio {(2) B.E.P. Sales

(3) Sales for the profit of Rs. 1000000.
(4) Margin of safety for the profit of Rs. 500000.

OR

(a) Worite shote note on: (10)
(1) Break Even Chart

(2) Margin of Safety

(3) Angle of Incidence



(b) From the following particulars find out the most profitable product mix. (10)

Particulars Product | Product | Product
A B C
Budgeted production & sales unit 2000 3000 1000
Sales price per unit (Rs.) 86 79 65
Direct Materials 6 Kg 4 Kg 5 Kg
Direct Labour (Hours) 5 4 3
Variable over heads {(Rs.) 10 15 8
Fixed overheads (Rs.) 12 12 12
Cost of material Per Kg (Rs.) 6 6 6
Direct labour hour rate {Rs.) 3 3 3
Maximum possible volume of sales unit 3000 4000 1500

All the three product produce from the same material, using the same
type of machines and labour. Direct labour which is key factor is limited to

25000 hours.
Q.5
(a) Discuss the significance of Differential Cost Analysis. ' (08)
(b) Following information is obtain from the NIRALI Ltd., You are required to (12)

present a marginal cost statement for each product and determine which of
the following mix must be adopted.
(1) 600 units of A & 400 units of B
(2) 1200 units of A only
(3) 800 units of B only
(4) 800 units of A & 300 units of B
Additional information:
Fixed over heads : Rs, 22000 per annum

A B
- Direct wages, 60 paise per hour 25 hours 35 hours
Variable over heads: 100 % of
direct wages
- Direct Materials Rs. 25 Rs. 30
- Seliing Price Rs. 80 Rs. 140
OR
Q.5 KINNARI Ltd., furnished the following details about product A, B & C. (20)
Particulars Product | Product | Product
A(Rs) | B(Rs) | C(Rs.)
Direct Materials 60 50 56
Direct Labour 32 20 24
Variable Exp. 20 24 30
Fixed Exp. 16 14 12
128 108 112
Profit 32 32 28
Selling Price 160 140 140
Number of Units Produced 12000 8000 10000

Production arrangements are such that if one product dropped than
production of the others can be raised by 50%. The director proposed that
product C should dropped because of lowest contribution.

Present suitable analysis of the data indicating whether the proposal
should be accepted.
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Q.1

Q.1

Q.2

Q2

Q3.

Q3

Q4

04

(A) Define Auditing. State the Difference between Accounting & Auditing. (10)
(B) Differentiate between Coniinuous Audit and Annual Audit. (10)
_ OR
- (A) Describe the main classes of errors giving illustrations. 10)
(B) How money may be misappropriated? 1o
Prepare Audit Programme of Nationalised Bank. (20)
OR
Describe Internal check system for the payment of wages. (20)

eat MO s,

SARDAR PATEL UNIVERSITY
T.Y.B.COM (EXTERNAL) Examination
Saturday Date: 11:03-2017
Session: Morning / Evening  Time: 02:00 PM To 05:00 PM
Subject/Course Code: AA-305 / PaperNo.
. Subject/Course Title: Advanced Accounting & Auditing P - V
Total Marks: 100

What is investigation? How would you conduct investigation on behalf of an institution

who wants to grant a huge amount of loan to a partnership firm? 20)
OR
What is vouching? How would you vouch the following: (20)

() Collection from Debtors.
(ii) Cash Purchases.
(iii)  Cash Sales.

Give the meaning of verification of assets. How would you verify the following assets
!
! ! 20)

) Plant & Machinery.
(i)  Imventories.
(i) Goodwill.
OR

What do you mean by ‘Auditors qualified report? Under what circumstances would you
like to give such report? How it differs from clean report? 20)

GD | Lﬁrq)



Q.5 State the provisions of the companies act regarﬂing appointments, qualifications &
disqualifications of company auditor.

OR

Q.5 (A) Calculate divisible profits from following information:

(B) Discuss dehatable issues with regarﬁs to divisible pr

Profit or Loss e Profit or Loss
Depreciation
Year before . after
o Provided .

Depreciation Depreciation
2013 --- 75,000 9,000 --- 84,000
2014 --- 80,000 11,000 --- 91,000
2015 --- 60,000 20,000 --- 80,000
2016 + 3,00,000 35,000 +265,000

B R R L Tt
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SARDAR PATEL UNIVERSITY
T.Y.B.COM EXAMINATION(External)
Saturday, Date 18/03/2017
Time 2-00 p.m. to 05-00 p.m.
Business Finance (BF 301)

: Total Marks : 100
NOTES - 1. Figures to the right indicate marks.

2. Answer should he precise and to the point.

3. Show necessary working clearly,

1{a) What is Financial Management? Discuss its significance in Business World, 10
(b} Explain meaning and causes of Under-Capitalization. Discuss clearly the remedies 10
of Under-Capitalization.
OR
1(a) What is Financial Planning ? Explain in brief, various factors affecting Financial 10
planning.
{b) Discuss the objectives and geals of Financial Management. . 10
2(a) Discuss the merits and demerits of Preference shares and compare them with the 10
merits and demerits of equity shares.
{b) What is Working Capital? Explain the significance of it in Modern Business Units. 10
CR
2{a) MMTC Ltd. has obtained capital from the following sources, the specific costs are 10
also noted down against them. o
Sources of Capital Book Value Market Value Cost of Capital
Rs. Rs.
Equity Capital 50,00,000 1,00,00,000 15%
Preference Shares 8,00,000 9,50,000 12%
Retained Earnings 20,00,000 =zz= 13%
Bebentures 35,00,000 32,00,000 9%

You are required to calculate Weighted Average Cost of capital using:
(i} book Value Weights and (ii) Market value Weights.

(b) What is cost of capital? Discuss the impartance of it in Financial Decision Making. 10
3(a) What is Optimum Capital Structure ? Discuss the basic characteristics 10
of Optimum Capital Structure.
(b) What do you mean by working capital? Discuss the types of Working Capital. 10
OR
3(a} BSE Ltd. is planning for modernization. For modernization company requires 10

Rs.50,00,000 and can be finance by one of the following three alternatives.
(a) Issue further Equity shares of Rs.10 each at par,
{b) Raise Term Loan at 10%.
(c) Issue Preference shares at 12%.
Present Equity paid up capital is of Rs.80,00,000 and average annual EBIT is Rs.
18,00,000. Assume income tax rate is 50%.After modernization EBIT is expected
to be Rs.22,50,000 p.a.
Calculate Earning Per Share under the three financing options and find out which
alternative is giving highest EPS.
(b) Describe the short term sources of funds available in India. 10

Cpra)
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4(a) The following is Balance sheet of TBZ Ltd. :

Liabilities Rs. Assets Rs.
Equity Shares 15,00,000 Total Fixed Assets  37,50,000
(Rs.10 each) Current Assets 12,50,000
Retain Earnings 5,00,000
10% Debentures 20,00,000
Current Liability 10,00,000
50,00,000 50,00,000

The Company's total assets turnover is 3. Its fixed operating costs are Rs.8,00,000
and its variable cost ratio is 40%. The income tax rate is 50%.
Calculate for the company three types of leverages. Also comment on the relative
risk position of the firm.
(b} Write short notes on :
1. Role of SEB!
2. Stock exchange- as a barometer of a country's prosperity.
OR
a{a) What is Accounting Rate of Return Method? Explain Computation of it and also
explain advantages and limitation of ARR.
{b) What is Capital budgeting ? Explain the procedure of Capital Budgeting.

5({a) ABC Ltd. has to choose one of the following two mutually exclusive equipments.
T he cost of the both the equipments is Rs. 40,00,000.
The CFAT of both the equipment are:

Year Equipment X Equipment Y
1 12,00,000 12,50,000
2 15,00,000 16,00,000
3 20,00,000 18,00,000
4 25,00,000 20,00,000
5

10,00,000 30,00,000

Select the best one by using NPV method.
{ Cost of capital is 10% } -

(b} Write shost notes on-

{i) Pay Back Period Method

(ii) Features of Capital Budgeting

OR
5(a) Write a note on: Factors affecting capital structure.
{b) What do you mean by Operating Leverage and Financial Leverage? Explain their
utilities.
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NOTE- FIGURES TO THE RIGHT INDICATE FULL MARKS OF THE QUISTIONS,

Q-1

Q-2

Q-3

Q-4

A-

What is ‘consideration’? Explain the rules relating to lawful consideration.
Examine fully the legal position of minor

OR
Explain the exceptions to the rule ‘No consideration, No contract’

Explain the elements vitiating free consent

Explain any two :-

A-
B-
C-

Legal rules of valid acceptance
Discharge of contract
Difference of indemnity and guarantee
Elements of Agency
‘No one can give better title to another than what he himself has’. Discuss this statement
with its exceptions.
Difference between condition and warranties
OR
Who is ‘Unpaid seller’? Explain his rights against the goods.

Difference between sale and hire-purchase agreement

Explain any two under the Negotiable Instrument Act:-

Promissory note
Bill of exchange
Cheque and Crossing of cheque

Helder and holder in due course

Explain any two under C.P.ACT.

A -Who is Consumer and not consumer?

B - Service

C - Goods

D - Powers and functions of National Commission

10
10

10
10
20

10

10

10
10
20

20
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SARDAR PATEL UNIVERSITY
SY B COM (EXTERNAL) EXAMINATION 2017
SUBJECT: BUSINESS STATISTICS

Date: 10 /03/2017 ] Time: 10.00 am to 1.00 pm

Note: (i} Figures to the right indicate marks Tofal Mehks 1 5

Q 1(a)

{b)

Q 1(a)

Q 2(a)
(b)

Q 2(a)

(i)Use of simple calculators is allowed

(iii)Statistical tables will be provided on request
Explain primary and secondary data and state their sources

Compute mean and median for the following distribution

Class: 15-20 20-25 25-30 30-35 35-40 40-45 45-50 50-55 55-60
f . 3 8 10 19 25 21 6 5 3

OR
Given n = 100 and median = 25, compute missing frequencies

Class: 0-10 10-20 20-30 30-40 40-50
f: 14 ? 26 ? 15

Following are the data about two companies, Determine Whlch company has
steady wage policy? Why?
Company A  Company B

Number of employees 500 600
Average wage (Rs) 186 175
Standard Deviation of wage (Rs) 81 100

With usual notation prove that P(A U B) = P(A) + P(B)

What is the probability to get 53 Sundays in the year 20207?

OR
If P(A) = 0.6, P(B) = 0.3 and P(A n B) = 0.2 then find (i) P(A/B) (ii) P(A/) and
P(A/B) ‘




(b)

Q 3(a)
{b)

Q 3(a)

(b)

Q 4(a)

Q 4(a)

Q 5(a)

Write note on (i) Mutually exclusive and joint events and (ii)Sample space

Compute Karl Pearson’s coefficient of correlation for the following data:
X4 6 7 9 10 12 13 15
Y. 2 3 5 6 8 10 11 12

Explain regression, regression coefficients and its properties

OR
Compute rank correlation coefficient for the following data

X: 60 72 42 40 45 50 60 61 66
Y: 35 30 52 60 48 50 36 35 22

~“Given two regression equations 12Y — X + 6 = 0 and 15X ~ BY =180 and mean of

X =36, find value of Band mean of Y

Give five properties of each for Binomial, Poisson and Normal distributions of
probability

Draw Average and Range charts for the following data and give your findings

Average: 34 32 40 35 33 45 43 37 34 41
Range : 20 11 08 12 12 15 13 17 14 11
(Given n=5, A; = 0.58, D3=0, D,=2.12)

OR
Explain principles of Statistica! Quality Control.
For a poison variable X, given 3P(X=2) =P(X=4). Find its mean and standard
deviation. : ;

For the following data,compute seasonal indices.

Week

January February March April May
I 161 170 164 153 181
fl 165 169 147 158 190
H 162 169 153 145 190
v 165 170 -155 150 180

~J



(b) For the following data, compute Fisher’s Index Number. 8

Commodity Po. Q By Q
A 40 15 60 12
B 75 20 110 15
C 45 05 50 06
OR

Q5(a) Compute three yearly trend and short term changes for the following time series 7
data
Year :19811982 1983 1984 1985 1986 1987 198 1989 1090 1991 1992
Sales: 111 113 115 114 116 118 111 125 127 132 140 143

(b)  Write note on (i) Reversibility Tests (i) Cost of living index number 8

Fhkkkkkkkkok
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SARDAR PATEL UNIVERSITY
T.Y.B.COM. EXAMINATION (EXTERNAL)

W ed nesday, 15 MARCH 2017
02-00 P.M. t0.5-00 P.M.

MARKETING MANAGEMENT: MM301
Total Marks: 100
Q-1 Discuss the Marketing Philosophies in detail. 26

OR

Q-1 Write a note on: - 20
(A) . Marketing Mix. '
(B) Marketing Environment.
|

Q-2 Define Market s%egmentation and explain the bases of market segmentation. 20

| OR
Q2 | |
(A) State the significance of consumer behaviour. 10
(B) Write a note on §elling as a Career. 10
Q-3 bescribe the nevév product development process. | 20
i' OR
Q-3  Explain the procjluct life cycle with its stages. 20
Q-4 Discuss the varit;us pricing policies. . | 2
| OR
Q-4 Explain the elemjents of Promotion mix, 20
Q-5 Describe the featgures of a good ad copy. : 20
: . or o
Q-5 Explain the qualities of successful saiésmen; : 20

— X
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SARDAR PATEL UNIVERSITY
T.Y. B. Com. (EXTERNAL) EXAMINATION
2017
Wednesday, 15" March
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MM 301 : Marketing Management -
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SARDAR PATEL UNIVERSITY
TY BCOM (External) Examination
Thursday, 09 March 2017
2.00pm -5.00pm
PECO: 301 —Principles of Business Economics

Total Marks: 100

Note: (1) Figures to the right indicate full marks of the question.
(2) Draw the diagrams wherever necessary..

Q.1 What is Businiess Economics? Explain the Nature and Scope of Business  (20)

Economics.
: OR
Q.1 (A) Distinguish between autonomous and derived demand (10)
(B)  Explain Demand Function. : - (10

Q.2 What is ISO —Quant Curve ? Discuss the least Cost Combination with the  (20)
help of 1SO Quant and ISO- Cost Curves,
OR _
(3.2 What is Production Function? Explain the Law of Variable Proportion. = (20)

Q.3 Explain the Concept of Actual Cost, Opportunity Cost, Sunk Cost and (20)
Incremental Cost,
OR
Q.3 Discuss the meaning, applications and limitations of break-even analysis.  (20)

Q.4 Explain the-types, reasons and consequences of government intervention (20)

in pricing.
OR

Q.4  Explain the Methodology of Cost- Benefit analysis in Government projects (20)

in India.
Q.5 Write Short notes the following; ' (20)
(1) . Uses of Capital Budgeting A
(2) Sources of supply of Capital
(3) Investment Decisions

OR '

Q.5 Write short notes the following: (20)

(D Difference Between Private benefit and Social Benefit
2) Objectives of a firm '
3) Cost —plus Pricing

C CProd
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SARDAR PATEL UNIVERSITY
TY BCOM (External) Examination
Thursday,09 March 2017
2.00pm -5.00pm
PECO:301 —Principles of Business Economics

Total Marks:100
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SARDAR PATEL UNIVERSITY
T Y B Com (External) Examination
2017
Tuesday, 14" March
2.00 pm - 5.00 pm
TAX-301 - Taxation
Total Marks : 100
Note: Figures to the right indicate marks.

Q.1 Mr. Prayag has furnished the following information for the P.Y. 2015-16. (20)
1. Monthly basic salary Rs. 30000 which is increased to Rs. 40000 from 1-9-
2015.
Dearness aliowance 50% of Basic salary.
Bonus Rs. 40000.
Enterfainment allowance Rs. 2000 p.m.
Education allowance Rs. 2000 p.a. (for two children)
Hostel allowance Rs. 1000 p.m. {for one child studying in hostel)
He contributes in the recognise provident fund @15% of the basic salary
and employer contributes 14%.
The employer has provided him fully furnished flat (in a city having a
population of more than 25 lakhs) for residential use whose fair rent is Rs.
150000 and cost price of the furniture Rs. 300000.
9. Interest credited @ 14% in recognised provident fund Rs. 28000.
10. He has paid Rs. 2400 as professional tax.

Calculate his taxable salary for the A.Y. 2016-17.

NGO RGN

o

OR
Q.1
(a) Enlist any ten perquisites exempted from tax for all type of employees, (05)
(b) Shri Ravi retired from AB Ltd., on 30th June, 2015 after completing services (10)
of 30 years and 6 months. He received gratuity of Rs. 310000, Other
particulars are as under:
1. Basic Salary Rs. 20400 p.m. from 1-4-2015,
2. Increment rate Rs. 600 (from 1st April every year)
3. Dearness allowance 40% of basic salary (50% of which was added to basic
salary for the purpose of provident fund contribution)
Determine taxable gratuity for the AY. 2016-17.
(c) State the exceptions to previous year's rule. (05)
Q.2
(a) Smt. Saraswati owns three houses, particulars of which are as foliows: {(12)
Particulars House-1 House-2
Rs. Rs,
Occupation Let out Let out
Municipal Valuation 72000 75600
Fair rent 70200 73800
Standard rent 68400 77400
Rent receivable (monthly) 6750 11250
Vacancy period 1month |  1/2 month
Municipal taxes 5% 1125
Unrealised rent 13500 11250
Interest on loan for repairs 13635 31900

A




W

Q.3
(@)

She resides in House No. 3 of which Municipal Valuation is

Rs. 125000. Municipal taxes are 6% and.interest on loan for repairs is
Rs.11900.

Find out taxable income from house property for the AY. 2016-17.
Explain types of capital assets.

Resident and Ordinary Resident

Assessee

OR
Write short notes on the following:

Incomes fu!lyjexempted from tax (Any Ten)

Shri Aakash, a resident individual furnishes the following particulars relevant

for the AY. 2016-17. -

Profii and Loss Account for the year ended 31-3-16

Dr Cr
Particulars Rs. Particulars Rs.
To Salary 300000 | By Gross profit 610000
To General expenses 25000 | By Bad debts recovered 30000
To Advertisement 15000 | By Interest on bank
To Interest on capital 20000 | deposit 20000
To Interest on bank loan 30000 | By Rent received 30000
To Provision for bad debts 15000
To Depreciation 35000
To Advance Income tax 20000
To Postage & Stationary 10000
To Insurance premium 20000
To Net Profit 200000
1 690000 690000
Additional information:
Insurance premium includes Rs. 10000 being Mediclaim insurance

premium and Rs. 5000 being Life insurance premium.
Salary includes the salary drawn by Shri Aakash Rs. 60000.
Depreciation allowable as per income tax rules amounted to Rs. 20000.
100% of bad debts recovered was not allowed as deduction in earlier year.
Compute taxable income from business for the ALY, 2016-17.

OR

Shri Bharat lS a well known advocate furnishes the following Receipts and
Payments Account for the year ended 31st March, 2016.

Receipts Rs. Payments Rs.
To Opening cash 100000 | By Office expenses 100000
To Professional Fees: By Staff salaries 300000
2014-15 50000 | By Income tax paid 50000
2015-16 500000 | By Interest on loan 10000
To Gifts from clients 30000 | By Purchase of computers 120000
To Loan from clients 500000 | By Refund of loan 220000
: By Contribution to P.F. 50000
By Motor car expenses - 30000
By Closing cash 300000
1180000 1180000

(08)

(10)
(05)
(05)

(20)




Additional notes:

1.  Outstanding fees amount to Rs. 100000.
2. 20% of Motor car expense is for personal use.
3.  Depreciation on Motor car is Rs. 15000.
4,  Computers were purchased on 1-1-2016 for professional purpose.
Compute taxable income from profession for the AY. 2016-17
assuming that Shri Bharat maintains his books of accounts under cash
system.
(b) Write short notes on:
1.  Expenditure on Scientific Research (u/s 35) (05)
2. Deduction ufs 80 D. (05)
Q.4
(a) Find out taxable capital gain from the following transactions carried out by (10)
Mr. Badal for the previous year ended on 31st March, 2016:
Assets Purchase | Sales Date of Market Index
price Price | purchase | Value on | Number
(Rs.) (Rs.) 1-4-81
1. Agricultural Land 100000 | 300000 10-1-87 - 140
2. Urban Land 32000 | 565600 10-1-77 40000 100

3. Debenture not
registered on share

market 115000 | 185000 10-1-88 - 150
4. Jewellery 54600 { 754000 1-3-91 - 182
Additional information:
1. All the assets were sold in January 2016.
2. Index Number for the year 2015-16 is 1081.
(b} State at least 10 deemed assets under Wealth-Tax Act 1957. {10}
OR
Q.4
(a) Discuss the following: .
1. Deductions u/s 57. (05)
2. Deductions allowed u/s 24. {05)
(b) Smt. Dharati received following incomes during the previous year 2015-16: (10)
Rs.
1 Dividend received frorm Unit Trust of India 1000
2 Interest on Foreign Govt. Securities 5700
3. Interest on Anand Municipal Bonds (TDS 10%) 2970
4. Interest on Foreign Company's Securities 3000
5 Dividend on Cumulative preference shares 3000
6 Interest from Redeemable Debentures (TDS 10%) 2700
7. Winning from lottery (Net) (TDS 30%) 35000

Calculate the income chargeable to tax under the head 'Income from
other sources' for the A.Y. 2016-17.




Q.5
(2)

Shri Laxman is an Indian Citizen and a resident in India. His assets and

Liabilities as on 31-3-2016 are as under;

. Farm house situated 28 Kms. away from local limits

. Silver utensils

. Residentjal house

. Purchased a plot of land in Urban area {400 square
meters) to construct residential house, so far
construction has not been commenced.

. Corparcenary interest in HUF

. Motor car for personal use

. Cash on hand

. Boats for personal use

. T.V. setand VCR

10. He gifted ornaments to his wife

11. Loan taken for purchase of plot of land in urban area

QI PN -
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Compute Shri Laxman's Net Wealth as on valuation date 31st March, 2016.

Briefly describe various types of Excise Duties.
OR

Write short notes on the following:
'‘Business' and 'Dealer’ under Gujarat Value Added Tax.
Provisions of Registration under Central Excise Act, 1944,

QOO

Rs.
1000000

50000
1600000

1300000
100000
250000
200000

1000000
150000
100000
550000

(10)

(10)
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